Key Stage 2 National Curriculum Tests - Practice Paper - Arithmetic

Quick View

1| 2999  + 100 =
2| 439 x 2 =
3| 24 + 0.5 -
4 82 X 4 =
5| 3,453 + 227 =
6 24 + 3 =
71 s72 - 8 =
8 42 + 008 =
9 2 x 7 x 6 =
10 4 - 2 =

9 9
11| 450 =+ 9 =
12| 101  «x 100 =
13 9 2 _
14| 40,000 - 900 =
15| 500  x 100 =
16| 560 = 8 =
17| 20% of 1,100 =
18| 174  x 4 =
19 3 2

8 * 8 =
20| 2352 + 8565 =
21| 5,100 =+ 5
22| 18 - 983 =
23 43

X 21

24| 252 - 604 =
25 21 1,932
26 1 1

3 X 8 B
27| 85% of 260 =
28| 856,422 - 34,788 =
29 543

X 28

30 1

23 x 1 ) =
31| 40 - 5 x 6 =
32 4

5 + 4
33 1 1

3 4 - 8 -

34 56 2632
35 2 3

5 * 4 B
36 3

11 N 2 -
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Key Stage 2 National Curriculum Tests - Practice Paper - Arithmetic

Answers
1| 3,099
2 878
3 2.9
4 328
5| 3,680
6 8
7 564
8| 4.28
9 84
10 2/9
11 50
12 101
13 81
14| 39,100
15/ 50,000
16 70
17 220
18 6.96
19 5/8
20| 10,917
21| 1,020
22 8.17
23 903 Long multiplication method required
24| 19.16
25 92 Long division, method required
26| 1/24
27 221
28| 821,634
29| 15,204 Long multiplication method required
30, 345 Preferably written as a mixed number, rather than a decimal
31 10
32 1/9
33(3 1/8 or equivalent
34 47 Long division, method required
35(1 3/20
36 3/22 or equivalent
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